


The paper is about…

• Information transmission

• Communication

• Rational behavior

• Deception

• Lying

• Truth-telling

• Interests

• However: very general, very broad concept



Explaining by using math!



The model

• Random state “m” is observed by player 1 (sender)

• Sender sends signal (noise?) to player 2 (receiver)

• Receiver takes action

• b is difference in preferences 



Equilibrium

• Define

• 𝑦𝑆 𝑚, 𝑏 ≡ 𝑎𝑟𝑔𝑚𝑎𝑥 𝑈𝑠 𝑦,𝑚, 𝑏

• 𝑦𝑅 𝑚 ≡ 𝑎𝑟𝑔𝑚𝑎𝑥 𝑈𝑅 𝑦,𝑚





b=0
b>0
V(0,a,1,b)=0 has solution V(0,a,1,b)>0

Partition equilibria
&
Truth telling equilibrium

Partition equilibria Uninformative equilibria



Which equilibrium will be chosen?



Example

• 𝑈𝑆 𝑦,𝑚, 𝑏 ≡ −(𝑦 − (𝑚 + 𝑏))2

• 𝑈𝑅 𝑦,𝑚 ≡ −(𝑦 −𝑚)2

• 𝑏 =
1

20





More general result

• This is only a sufficient condition.





Conclusion

• Direct communication is more likely to play in important role, the 
more closely related at agents’ goals

• Perfect communication never happens (except b=0, interests coincide)

• Rational behavior can result in non-communication (b=…)


